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INTRODUCTION

iIs a fixed value of interest calculated every year on the
rincipal pt a certain rate of interest.

Simple int
original

PXRXT
100

Simple Interest (SI) =
Where

P- principal,
R - rate of interest (per annum generally),
T - time period (usually in years).
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. . 1
If a certain sum of money is invested a ;
annum simple interest fo @ hen interest

will be 3900 less than its principal then find the
simple interest and Principal amount? If¢ 3

a¥ & AT 6% wfa a¥ FuRYT sAe W P 2 S\
vs AfRaa ofr &1 @3 Far sar & ar AT
ST 38 Houa ¥ 3900 FA gem 3R 6)

R WTURYT s4rer 3R Heruar AR A M" 300

0
;;} 900 , 4800 / (b) 200 , 4100 H&O )(3":

(c) 800, 4700 (d)600,4500
(e) None of these 0\0




S| -1 (Basic Question) I MATHS WITH SACHIN BALIYAN SIR

+
?_c\srtain sum of money is invested al.\) ﬁ —r 0~ S,
16%% per annum simplanterest for 5 yea go— P '7 o S \ “
then amount will b§ more than its )
principal then find the4fMmple interest and @ @
Principal amount? If¢ |5 a¥ & AT 16%% e
gfad a¥ JAURT sATe| W & ARad X253 ' %
fdr &1 @der fFan g a Pora E
3F HeUA ¥ 1300 pivw gem 3R 4 QU

Y WTUROT ST 3
FL?
(a) 1300, 1600 (b) 200, 41

(c) 800, 4700 00,4500
(e) None of these
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If simple interest on a certain sim ofsaan ey
for 8 months @ 4% per annu is R i@
than the simple inte @_ﬂ’

money @ 5 % per annum for 15-mon nths
Find the Principal amount ? 2

fr 97 8 AgA & AT @ 4% uﬁt CL
#T 2T ¥ HIYROT sOTT |, GATT U W
15nma:fav5%qﬁraiaﬁrat#
HATYROT 41T & 129 39 FH 2l
Aol TR A2
(a) 3600 (b) 4100
(c) 4700 (d)6500
(e) None of these

L./D’
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&
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“A certain sum of money is given at Simple Interest

at 18%% PA for 5 months and same sum of money

is given at Simple Interest @ 12% % PA for 18

months. if the difference of both Sl is 210. then find
out the Principal amount? UT& fafaa afr 5

mﬂ#a:mw-%mwmmmwa \J
m%mmmnmma:m

12—% PA &Y EX ¥ HIURYT sgTs f&ar SATar

afs 2SI 3iaT 210 g1 Y Riffuer of¥r

HT TdT HAMT?

(a) 1200 (b) 5000 (c) 1920
(d)2000

(e) None of these

A
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A sum of money become f

itself mt a certain rate of
snmple interest. The rate per annum

is : mmmaﬁr_ﬁﬁaa
Rwsaﬁ#wm ]

1 - I g STl ¥ wfy @

cater A1 T T 872

(a) 10% (b)20% (c) 18%
(d)25%. (e) None of thejé
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At what rate per cent per annum

will the simple interest on a sum

2
of money be - of the amount in

10 years. qﬁa&ﬁma#
ﬁwﬁﬁﬁaauﬁrwm

saTor 10 auT 7 sy aﬂ 5

AT g1 SATTI?

(3) 4% (b) 6%
(c) 7% (d) 8%

(e) N.O.T
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The simple interest on a sum

after 4 years is % of the sum. The

rate of interest per annum s ? 4

Tl & 91 fRdr afr a3

HTYROT sqTsT 39 A a»'r =
T g1 9fa a¥ sarer # &
1 87
(a) 4% (b) 5%

(c) 6% (d) 8%
(e) None of these

o
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With a given rate of simple interest the ratio of
principal and amount for a certain period of
time is 4 : 5. After 3 years, with the same rate

of interest, the ratio of the principal & amount
becomes 5 : 7. The rate of interest is : HTYROT

O 1 & ¥ T F WY ve fAfua af®
¥ v FAaua IR Bwua F Feura 4: 5
¥ 3 WA F TIE, TS Y AT & F Y,
Haua AR Bsus & 3eua 5 7513131
¥ sarer Y T
(a) 4% (b 6% (d) 7%
(e) None of these
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If difference between the Sl on a certain
sum of money borrowed from two
different banks on Rs 15000 is Rs 25 in 5
years . Find the difference between the
rate of interest offered by both banks ?
afg 15000 J9T 9T & HAM-3HAT
dhl ¥ YR o 1E gaUfr 9T SI &
d &1 AT 5 aut & 25 39 gl
Al d& q@RT & S arell S;Te &
& &g FaX AT HAT?

(a) 0.033% (b)0.33%

(c) 0.3% (d) 0.2%

(e) None of these
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Nitin borrowed some money at the rate of 6% p.a.
for the first three years, 9% p.a. for the next
five years and 13% p.a. for the period beyond
eight years. If the total interest paid by him at
the end of eleven years is Rs. 8, 160, the money

borrowed by him (in ) was ? ﬁﬁw#m?ﬂw
st & AT 6% wfaaw & T |, I 9T Nt
& AT 9% ufday 3R e ast & 30+ i
AW F AT 13% vAday i X F F& U
IR foan Ife 7aRe aut & 39 A GarT
s fRaT T FW sTer 8,160 § ¥ MW
mmmi%mmm(m#)

(a) 12,000 (b) 6,000

(c) 8,000 (d) 10,000

(e) none of these
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14000 given at Sl for 8 yrs. The rate of interest is
4.5% for first 2 years then 6% for next 5 years &
11% for remaining time. How much amount will
be received at the end? 8 ¥ & AT SI W
14000 39¥ QU 10| sAor A T Tgad 2
asl & AT 4.5% g 3R T 3 5 ast &
faT 6% 3 AT AT F AT 11% 81 3T

7 fraer ufr Ade?
(a)7000 (b)16000
(c)21000 (d)24000

(e) None of these.






